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1. BRI SEEN SR X FE, & FE(MINETT*)
HEAXIFNERTY, TERE, 16
o B, BIHERERRINAIRBIX, T T ] T T 17 T T |
I?:—g 2. ZHRIESTEER. FEIERERE. [0] [0] [0] [0] [0] [0] [0] [0] [0] [O]
= . NAE A . e s [1] [1] [1] [1] [1] [2] [2] [1] [1] [1]
Jiji EIL_@%W“@E%ZB%”%E’% IR FRR R [2] [2] [2] [2] [2] [2] [2] [2] [2] [2]
[3] [3] [3] [3] [3] [3] [3] [3] [3] [3]
4. (RESesmaE, AERT. 8. R, [4]1 [4] [4] [4] [4] [4] [4] [4] [4] [4]
1 i o [51 [5] [51 [51 [5] [51 [51 [51 [5] [5]
= | EmEs: B srEss: W I=10c1le] |61 61 61 [61 [61 [61 [6] [61 [6] [6]
R [71 [71 [71 [71 [71 [71 [7] [7] [7] [7]
Ak ®RE R EC [8] [8] [8] [8] [8] [8] [8] [8] [8] [8]
AN ] ] .| [9] [9] [91 [91 [9] [91 [9] [9] [9] [9]
—. Choose the best answer (@27, #£204%)
1. [A]l [B] [C] [DI] 6. [A] [B] [C] [D1]
2. [A]1 [BI [C] [D1] 7. [A] [BI1 [C] [D]
3. [Al [B]1 [C] [D1] 8. [A] [B]1 [C] [D1]
4. [Al [B]1 [C] [D1] 9. [A] [B] [C] [D1]
5. [A]l [B] [C] [D] 10. [Al [B1 [C]1 [D1]

—. Fill'in the blanks (#&£20%)

1. 2.
3. 4.
5. 6.
7. 8.
9. 10.

=. Give definitions to the following terms (#£30%3)

1.(693)
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3.(69)

4.(6%)

5.(653)

P9. Sentence analysis with tree diagram (#£30%3)
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